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Question 1: 6 Points
{2) Convert (3.125)19 to binary representation.
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Q;uestion 2: 6 Pls
Given f(x) == z' and a = 4, usmg Taylor’s expansion find a polynomial of degree 2 for f(r)
at a.
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Bonus Question: 4 Points

tixplain if the below sequence converges or diverges:
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(b} Given a function f(z) = 4z% — 6z 4+ 1 = 0 identify if root for f{a} exists within the
intervels [0 1] and [0 2], What theorem guarantees the existence of a root within a given
tre, tnfotved
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Question 3: 8 Polots

Find the equation of the tangent line to M (z) = (zcosx)/{a + 1) at the given point x =17

. ‘ - Y ‘ '
Givan M) = XEX Sinp| ol tve 0. M) = Al
K1 ' ? ("K) +
| G cve %
N O -

_ e de—:Q r (D d xCosx . Ve
W EODS I Cx C L__ M/(K);me.-m&m%ﬁsmx

Q(-H) ) @*Q’V
(e+1) (ﬁosxi}% + ’)C%C‘O“C) - ke IM(K) = — z}%—ijv

ey

. C')(_#L) CCDQ}C ~ %th’hﬁ)-

. O o — st (%) s

v
X COEIC — % S FCOSH — H S —

o Co K :’50,, Hoe ?CDH’V{L

= @:4— 1’)
/ COSHK — BNV — 2L L

Eqﬂ Are tha I—W“ﬂ‘”’”{i Une s Z Q\j_"—ﬁl
= (%JY)



